EAGRAROBREERT — 2 N— IBISH —F

2021558260 (k) sEEM1H

m C3m H5%4m® Lt (w8 | lmEmml - |5 @) o s
[A&4£] 1 7 :500,000 @ ~ 23#%&:200,000H ~ 3#&:125,000 @ . 43#&:75,000 3 . 53 :50,000
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
R NS 12 RHHREE : -1-1- — REE (EE
115|5|F1T>RXRTTIL o4 en 1.(3_5).9 1-1-1-1 | 41.0 5 ;1;9) G
RHIIEIR BHITTLY BEZL Y K
gy RERRK :36. == . — FEF— (Fk)
2 6l EA/FrN— ai: A53.0 (13316/25) S 2 (4+935) EILRmF
L:oA7% B:TUF4TYEX HE77— L
. s — Kih—& : —~6-5- - ioiEE (T
3 o | YT ATV A o 54.0 é%é SRR R : % EHES
L ILF—94F— B:R/—Fyp—42 b IV AR
S e o JIRE— . 77~ = FEisPE (ER)
AlBlg|7rs-vz5—+ o4 s 1.(337).6 7-1-7-7 | 41.7 1 (4:320) umégﬁ
R H—THa—h BihHRRINZS =rie )
- - e = 565 | 42.0| — HEB (@)
5 R A A= b S 1(737@6 AR ! f_?) EFEFBA
L:viNyBLhT1 BNIMETI- FRE%S
. : o7 | BAF 1:37.8 8-8-9-7 |41.8| — 8 460 | EAITFE (EH)
61|17 v3IWE 56.0 (1 1/4) 42) | R Fr—2tEvar
L:b5>tE2 K B:vFv N L4505
c7 = i o4 | FHBE— 1:38.0 4-4-3-3 | 42.6| — 3 462 | /IKITEA (EM)
] 3| NATA— .0 (3/4) © | ) Fr-zarevar
R:77—Hv>y B:I7L2X EZdHTT— L
PSS 12 | AER 1:38.2 9-9-8-9 |42.1| — 9 455 | WiTiBEE (k)
8|810| 77— % 4.0 (1) o) | B Fr—2rEVa>
R:xAL=H -2 B:Yr—sULT J—H Ty — L
SN 4 6 | KHFEA 1:38.3 3-3-4-6 |43.0| — 7 455 | Wit (FEk)
9/8|9 | FIAIL VTR 56.0 (7€) 1) | @) Fr—2bETaz
LiANTI—IN BiEZ/O-t BEZZY K
S 4 8 | AKE 1:38.5 10-10-10-10| 42.2 | — 10 | 492 |&EfiFE (EH)
1007|7|71>77I~> %55.0 (1 1/2) (a) | B Zr—2pEVa>
LA—JX1 x4 B:AXNY—=7 AXETa—T7—A4A
® 1—F—@EBIERL
1T=7r= 5,6,9,3,4,2,8,1,10,7
2a=5F= 5,6,9,3,4,2,8,1,10,7
Ja=7= 5,6,3,9,2,4,8,10,1,7
40 —F— 5,6,3,2,4,9,(1,8),10,7
[ N5
B 5 950M 714K 5-6 460 e E 5-6 950M JEE 2-5-6 4,970
B B 5 300M 25 1,460H B = 5-6 1,060M B 5-6-2 28,340
6 1304 2-6 690M B H 5-6 2,960
2 350M

ARICOVWTRDTEEERROODE. TR LIV,




